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158 [A SUO3 [ 11.2 12/12]  V HIt
159 [A SUO3 [ 4 12.3 12/12]  VHIs
160 |A SUO3 I §k 11.8 12/12]  V HIt
161 | A SUO3 i § 11.3 12/12]  V HIt
162 |A SUO3 i § 11.6 12/12]  V HIt
163 | A SUO3 [ 4 11.9 12/12]  V HIt
164 | A SUO3 [ 12.2 12/12]  V HIt
59 165 |A SUO3 [ 208 12/12]  VHIt  [sthk
59 166 |A SUO3 [ 24.0 12/12]  V Hls 3¢k
59 167 |A SUO3 e 111 7/12]  VHIt |fi
168 | A SUO3 PRI 11.6 6/12]  IVH20t |¢H
169 |A SUO3 P 11.4 7/12]  VHIs IO
170 [A SUO3 PRI 13.0 6/12] VHIs [#fHIO
59 171 [A SUO3 PRI 14.3 12/12]  VHIt | =&+X7
60 172 | A SUO3 P L 14.5 10/12]  VHIt  [#ik
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188
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— 184
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— — 185 e
pE— 21
I
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— 187 ——1"
212
TR | GRES [ KOEEES PR 7% JEPE PR IR % | IR [ JU v K SChE R A JF LA
60 173 [A SUO3 (A2 11 11.8] 5.2 2.3 10/12) 12/12]  VHIs K1 —
174 _|A SUO3 A 124 6.0 2.7 11/12) 12/12) V HIt K1
175 |A SUO3 AL 12.7 6.0 2.7 4/12 12/12]  VHIt K1 —
176 [A SUO3 TRl L 12.0) 5.6 3.2 9/12 12/12]  VHIs A1 —
177 __[A SUO03 JEET L 10.6] 5.6 2.2 4/12) 6/12] — IV —
178 [A SUO3 Tkl L 12.1 6.4 2.5 9/12 12/12) — A1 —
179 [A SUO3 Pl 1138 6.0 2.2) 12/12 12/12[  VHIs
180 [A SUO3 I 11.1 5.5 2.5 12/12] 12/12]  V H2t A1 —
181 [A SUO3 e L 114 5.2 2.4 12/12 12/12 V HIt
182 |A SUO3 BEZAIL 12.3] 6.0 3.4 8/12 12/12[  VHIs = —
183 |A SUO3 eI 122 5.8 2.4 9/12 10/12 V HIt — —
184 |A SUO3 P 120 5.9 2.3 7/12) 12/12 V Hat K1-2
185 [A SUO3 PRI 12.0) 5.55) 2.6 6/12 12/12[ IV H20t K1 —
186 |A SUO3 AL 122 5.4 2.9 11/12) 12/12]  V H2t A1 —
187 |A SUO3 AL 12.2) 5.2 2.7 6/12 12/12[  VHIs — —
188 [A SUO3 AL 12.7] 6.65) 2.75) 7/12) 10/12) — K1 —
189 |A SUO3 P I 123 5.5 3.0 6/12 12/12[  VHIs K1
190 [A SU03 P 12.0) 6.1 2.6 12/12] 12/12[  VHIs — —
191 [A SUO3 eI IL 12.4) 6.2) 2.0 12/12 12/12[  VHIt — —
192 [A SU03 PEZAIIL 12.5] 6.7] 2.3 9/12 12/12 — — —
193 |A SUO3 e L 128 5.6 2.8 8/12 12/12[  VHIs — —
194 [A SUO3 [ 13.6] 5.7] 2.2, 11/12 12/12 V HIt
195 |A SUO3 HEIIL 13.4] 5.6 2.4 8/12 12/12] V HIt — —
196 [A SUO3 Jedx L 132 6.2] 2.7] 7/12) 12/12[  VHIt — —
197 |A SUO3 BEFAIL 12.5] 5.2) 3.2 9/12) 12/12[ VHIs — —
198 [A SUO3 eI L 12.5 6.0) 3.0 7/12) 12/12]  VHIs — —
199 [A SUO3 PEIAIL 136 5.6 2.7 8/12 12/12
200 _[A SUO3 [ 139 5.7 2.4 9/12 12/12 — — —
60 201 |A SUO3 Jii 2 14.8] 7.8 2.8 12/12 12/12[  VH2t —
60 202 |[A SUO3 FsRp L 12.1 6.1 4.0 12/12 12/12[  VHIs — —
60 203 |A SUO03 Je I 12.0| 6.4] 2.7] 12/12 12/12 V His SChE K1-2 —
204 [A Suo3 e 11.9 5.7] 2.1 12/12] 12/12 — 7
60 205 [A SUO3 PRI 11.9) 5.3] 2.3 12/12) 12/12) — e — —
206 |A SUO3 i 25 12.0) 5.6 2.2 12/12] 12/12] — X7 — —
207 _|[A SUO3 DAL 125 6.1 2.6 12/12 12/12]  VH2t | -XF A1
60 208 [A SUO3 KRR IL 111 4.9 2.5 9/12 12/12) — — —
209 [A SUO3 PRIAIL 11.6 5.6 2.3 12/12 12/12[  VHIt — —
61 210 [A SUO3 L 11.8 6.2 2.8 12/12 12/12[  VHIt — =
211 |A SUO3 e L 12.1 5.8 2.8 10/12 12/12 — — —
61 212 |A SUO3 BEZAIIL 12.2) 5.6 2.5 12/12 12/12 V HIt
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213 |A SUO3 ENEES 11.3 46 6.15 2/12 12/12]  V H2t BVHT ~ K1 |—
61 214 |A SUO3 PNEENC 12.2 4.0 75 3/12 12/12]  V HIt Al
215 |A SUO03 PEERC 12.0 — 5.1 6/12 —| VHIt A1 —
216 |A SU03 KEZ 122 — 5.85 4/12 — — K1 —
217 _[A SU03 PNEENC] 124 — 59 4/12 — — E —
61 218 [A SU03 L 11.8 6.0 6.4 4/12 12/12 K1
61 219 |A Suo3 Fui 11.6 5.6] 6.7 11/12 12/12 — Kl —
61 220 |A Suo03 AL 115 —] 53 3/12 —] — K1 —
61 221 _|A SUO3 FEAEIL 10.5 5.6] 28 9/12 12/12]  V H2t A1 —
62 222 |A SUO3 i 119 6.0] 25 3/12 6/12]  V HIs _[GkEh K1 —
223 |A SUO3 Ui 2 1L 10.9 5.4 3.0 1/12 6/12] VHis A3 —
62 224 |A SUO3 i 0L 11.6 6.3 2.55 6/12 12/12] VHlo [AWE K1 —
62 225 |A SUO3 [ 9.1 5.1 225 5/12 12/12] IV H20t [AI{E A1 —
62 226 |A SUO3 Bt 2 L 9.1 49 2.1 5/12 7/12]  VHis__[AfE Al —
62 227 [A SUO3 Uit 1L 11.0 6.3 2.7 4/12 12/12]  VHIs__[A{E Al
62 228 |A SUO3 Bt 1ML 113 5.95 2.9 4/12 12/12] IVH20t  [FI{E A1 —
62 229 |A SUO3 Ui 52 [ 118 6.0) 29 10/12 12/12]  VH2t [FfE Al —
63 230 [A Suo03 B S I 1.7 6.5 2.7 5/12 12/12]  VHIs _[FfE Al K1 a
63 231 _[A SU03 Uik 1L 9.5 5.8 2.1 9/12 12/12]  VHIs __[F{E Al KIa
63 232 | A Su03 Ui R IIL 11.2 6.4 2.95 4/12 12/12]  VHlo [FHE Kl —
233 |A SUO3 Ui S 1L — 6.2 24 — 12/12 — FIE Al —
63 234 |A SUO3 Bt S L 12.4 5.8 25 2/12 12/12]  VHIt __[AE Al
63 235 [A SUO3 Uit 1L 125 5.9 5.1 12/12 12/12]  V Hls _ [Ssclil+5k Fxm Al —
236 |A SUO3 i — 8.8 6.3 — 5/12 — BNH ~ K2 |~
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260 0 (1/4) 10cm
TR | Bh S| K R T 1% T TR | ERRGR ] DU T T | JFEmE

237 A SU03 AL 9.1 5.1 2.2 3/12 2/12 IV H20t K2 —

63 238 A SUO3 B 9.4 5.2 2.1 11/12 12/12 V His K1 K1 a
239 A SUO3 i S L 11.1 6.0 2.9 6/12 12/12 V His K1

64 240 A SUO3 i S ML 10.6] 6.8] 2.6 12/12 12/12 — K1

63 241 A SUO03 i s I1IL 11.0] 6.5] 2.7 12/12 12/12 — K1 —

64 242 A SU03 it S ML 11.1 6.1 2.6 10/12 12/12 V H2t K1 —

64 243 A SU03 i 52 [T 11.3 6.45 2.8 12/12 12/12 — N —
244 A SU03 it S L 11.0] 6.9 2.4 10/12 12/12 — Al —
245 A SU03 i S L 11.1 5.7 2.75 12/12 12/12 — PN —
246 A SU03 i S L 11.4] 6.4 2.5 10/12 12/12 K1

64 247 A SU03 Uit 52 1T 11.0] 6.3] 2.8 5/12) 2/12) V Hlo K1
248 A SU03 it S L 11.3] 6.7 2.8 11/12 12/12 — K1 —
249 A SU03 it S L 11.0] 6.5 2.8 8/12 12/12 — Al —
250 A SUO3 it S L 11.2] 5.5 2.55] 9/12 12/12 — K1 —
251 A SUO3 B 11.1 5.8 2.8 10/12 8/12 — K1 —
252 A SUO03 i S L 11.3 6.5] 2.9 11/12 12/12 K1
253 A SUO3 B 11.4 6.6] 2.8 10/12 12/12 — K1 —
254 A SUO3 i S 1L 11.4 6.7 2.8 7/12] 7/12] IV H20t K1 —
255 A SU03 it K L 11.0 6.5 2.8 7/12] 12/12 — K1 —
256 A SU03 it S L 11.3] 6.6 3.0 8/12 12/12 — Al —
257 A SU03 it S ML 11.45 6.7] 2.7 9/12 12/12 IV H20t K1 —
258 A SU03 i S ML 11.55 6.25] 2.85 12/12 12/12 — K1 —
259 A SU03 i S ML 11.65] 6.8] 2.85 12/12 12/12 K1

64 260 A SUO3 B 11.7 5.7] 2.9 8/12) 12/12 IV H20t K1 —
261 A SUO3 i 2 JIIL 11.65] 6.25] 2.85] 10/12 12/12 — K1 —
262 A SUO03 i S ML 11.8 6.4 2.7 12/12 12/12 — K1 —
263 A SUO03 it S L 11.8 7.6 2.7 1/12 6/12] — N —
264 A SU03 it S L 11.75 6.6 3.1 9/12 12/12 — Al —
265 A SU03 it S L 11.95 7.1 3.0 9/12 12/12 IV H20t K1 —
266 A SUO03 B 11.2] 7.0 3.9 4/12 4/12) — K1 —

64 267 A SUO3 i S L 11.0] 6.35] 2.6 8/12) 12/12 V Hlo K1

64 268 A SUO03 B 10.8 5.9 2.4 10/12 10/12 — K1 —
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HEP | GEES | KRS P B JECTE A BEY Cadl s e AR SChE IR A JE L

65 269 |A SUO3 iz 15.0 12.6 18.1 6/12 6/12 LIVEHT ~ K 1
270 |A SU03 5% 14.2 — 7.7 2/12 — — BIVH ~ K1 [ —
271 _|A SUO3 % 13.5 — 8.3 4/12 — — BV~ K1 |[—
272 _[A SU03 % 14.8 —| 8.7 2/12 —|  VHIt BV~ K1 [—
273 |A SUO3 g 11.8 9.8 12/12]  V HIt AN PN
274 | A SU03 L8 % — 9.4 7.8 — 3/12]  V HIt Kl1-2 —

65 275 |A Su03 +ng — 12.0 137 —] 12/12 V H2t BIVHET -~ K1 |—

65 276 _|A SUO3 7 19.2 —] 1.7 4/12 —|  IVH20t K12 Ala

65 277 |A SUO3 FIEIR PN 40.8 13.6 113 4/12 6/12] IV H20t IV —
278 |A SUO03 Fhik 27.8 9.8] 10.0 3/12 3/12]  V H3t BV —
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G | Bhks | K amEs it i TR Tn | R ERRR | U T TR | I Cm
279 |A SUO3 [Tk 120 = 144 412 — VHlo 1 =
280 A SUO3 [ 36.0 10.6 14.4 3/12 2/12 V Hlo K1 —
281 A _SU03___|HEk 29.2 10.8 113 3/12 a2 *1 =
282 |A _SU03___|Hk 292 9.1 10.9 3/12 2/12] _VHIt BVE -1 |
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66 287 |A SU03 gk 36.2 110 138 12/12 12/12 — ENI —
A _SU03 gk 3/12 PN —
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10cm
|
HEMR | SRR | X HMES fid B JECPE A IIRGR % | R Uy R bk R | BARAE
297 [A — RHY AR 3.2 — JEH 12 —] —] — — —
- 4 A~ IV H8t
76 298 |A P14 PN KR 6.2| AiTIE 9.0| BifFE 14.0 £}V H2t V H2s V H8i K1a
JEV His IV H20t V H3t

299 |A — EENELA Bl 5.1 mitgie 4.3] Bifee 1.1 — — V H2s — Kla

300 [A — ARG IR 6.1 qiffkiE 6.1 BifFe 1.6 — — V H2t — Ala

301 [A — EENL] el 11| R 1.0 — — — IV H20t — KIa
302 |A — IR B 1.2] SRiiE 1.0 — — — V H3t — Kla —
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320 331 S —— _
—— — 0 (1/4) 10cm —
- 316 | - 332 ——
B | G| K oamE S 1% TETE TR KGR UV E T T
67 303 A — PN 12.4] — 5.8 6/12] — V H3s [BIVHT ~ K1
67 304 A — B8 118 15 58 10/12 12/12] _V His sl
67 305 A — PN 11.8 4.5| 7.2 4/12] 12/12) IV H20a K1
67 306 A — K 12.2 41 6.6 5/12 12/12  V Hos ]
67 307 A — PN 11.2 —] 5.7| 3/12] — V H3s K1-2
308 A — i 12.0 — 50 2/12 — VHIs EN]
67 309 A — B 12.0 5.4 6.5 12/12) 8/12] V H2a K1
310 A — i 12.0 = 47 2/12 — VHIs _ERE ]
68 311 A — B 11.8 5.6| 6.3 7/12) 12/12 V H2s K1
312 A — o = 5.8 17 — 512 VHls _[AIE Kl
313 A — i 8.2 5.0| 2.1 2/12| 3/12] IV H19f K1
67 314 A — Biipe 8.8 53 2.4 5/12 8/12] IV H19s Al
315 A — i 8.9 5.8 2.1 3/12] 3/12] V H3t K1
316 A — Bl 9.4 5.1 2.5 4/12 6/12] _IVHIOC Il
317 |A — (o] 8 5.3 2.6 9/12 2/12 H20r [V HT
318 A — B 4 6.1 271 T2/12 2/12 H20r N
319 A — i .2| 6.2 2.7 8/12] 2/12] H19s EN
68 320 A — s 2 7 2. 1/12 2/12 H20r IS
321 A — fiiEa .0| 6.3 2.8 1/12] 8/12] H20r N
322 A — [ 3 6.8 2.8 2/12 2/12 H20r K
323 A — i .2| 6.2 2. 2/12] 2/12| H20a N
68 324 TA — [ 0 6.4 2.6 1712 2/12] IV H19s K
325 A — Btk Y] 6.2 2.7 10/12 2/12] IV H20r £N
326 A — B i 6.0 26 12/12 0/12] IV H20r IS
68 327 A — Btk 8 6.1 2.4 6/12 9/12]  V I3a K
328 A — B gl 6.3 23 7/12 2/12] T Ho0r IS
329 A — i N 6. 2. 11/12) 2/12| IV H20r N
330 A — FEI5 3 13 i 10/12 0/12] IV H20r IS
331 A — 5 3 6.5 2.55 6/12 2/12] v Hat K
332 [A B 5 6.2 2.8 T2/12 2/12 H20r %
333 (A B , 6.7 2 9/12 2/12 H20r x
334 A — i .8 6.1 2.8 8/12] 2/12] H20r N
335 A i .8 6.4 2. 11/12) 2/12| H20r N
336 A — iy 4 6.4 2.8 7/12) 1/12] H20r K
337 1A i 14 67 2.75 3/12 2/12  V Hit X
338 A — ity 1.2 5.8 2.7 4/12] 6/12] IV H20r K
339 [A B 1.2 6.1 2.9 9/12 12/12] IV H20r X
340 A — ity 1.4 6.0| 2.6| 7/12] 5/12] H20r N
341 [A B 16 6.4 2.6 2/12 5/12 H20r x
342 A — ity 1.7 6.4 2.7 11/12) 12/12) H20r N
68 343 A B 2.0| 6.1 2.7 10/12) 12/12 H20r N
344 A — i [ 2.1 7.1 2.6| 1/12] 11/12) V Hir K
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IR [ G RRES [ KRR S | Al Wi JEPE sy L IRRYRAER [ IRAAR [ TV v B Sk [[REE TS JF EfaifE
345 |A — L 11.4 6.2 2.8 5/12] 2/12[ _ VHIt g K K1
346 [A it L 9.5 5.2 2.55 8/12) 2/12[  VHIr L K
347 _|A — B L 9.4 5.6 2.6 8/12] 1/12 IV H20r __[AI{E K =
68 348 A — FHEAII 9.2) 5.4 2.6 12/12) 2/12[ IV H20r |t K —
349 [A — B 1L — 3.2 L7 — 8/12[  V HIs _[HIE 12 —
350 [A — it 1L 11.5] .0 2.8 8/12 11/12) — HIE N —
351 A — it [ — . 2. —] 12/12) 3 BN =
352 |A — B R I 11.9 6. 3. 4/12 5/12 N =
353 [A — Bt S ML 9.4 5.2 2.7 1/12 2/12 EN =
354 A B 1T 9. 5. 2.1 7/12] 2/12 K
355 [A — i S L LI 7.3 4.9 1.3 —] 0/12] 12 —
356 [A — it L 14 5.8 3.1 10/12 0/12 IV H20r BN =
357 _|A — it 1L 2.2) 7. 2.6 3/12 5/12 IV N =
68 358 [A — 12 7. 2.5 3/12) 6/12) R =
69 359 [A 1.2) 6.2 2.4 5/12) 12/12) BN K1a
69 360 [A — 1 0.4 5.9 3.3 6/12] 12/12) N —
361 [A — I Xi 5.6 2.5 3/12 9/12) EN =
69 362 [A it [ .0 5.8 2.7 5/12] 12/12 N
363 [A — it L 7 6.2 2.15 2/12] 6/12 N —
364 [A — ik 7 6.8 2. 3/12 12/12) K2 =
69 365 [A — LI 8 6. 2. 10/12 9/12] K2 =
366 |A — FLIL 9.0 5.2 2.4 11/12) 12/12) L2 =
367 _[A it I 8.1 4.8 2.2 1/12] 3/12] 1
69 368 [A — fZ2m L1 5.0 2.3 4/12] 4/12) L2 =
70 369 [A — i S I 14 6.5 2.7 2/12) 3/12) K1 =
370 [A — LI 2 2.3 5. 2.1 1/12 7/12 PR IR | =
371 _[A — it/ L L1 5.05 2.65 6/12] 12/12 V K1 =
70 372 A — LI 1.5 5. 2.9 1/12 10/12 K2 =
70 373 _[A — .2, 4. 2.2) 4/12 10/12 K2 —
70 374 A — 8 6.8 2.1 6/12 6/12 S 2.0 K1b
70 375 [A 1 5. 2. 3/12 6/12 K2
376 |A — 4 4.9 2.2 3/12) 12/12 EANED —
377 A — .9 5. 2.5 4/12) 6/12) IN =
70 378 [A — 2.2) 5.8 2.7 12/12) 12/12] N —
379 [A — 2.4 5.6 2.3 1/12] 7/12) N —
380 [A — 2.9 5.5 2.6 4/12) 6/12 K1-2 =
381 |A — 5. — 3. 3/12 — I HI5s K1-2 =
71 382 [A — 7.6 — 11 5/12 — IVHI9s 1-2 =
71 383 [A 7.8 1438 1.05 1/12 V His K1-2
384 A — 27.6 8.4 10.5 1/12) 4/12] _ V H3s &IV K1a
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0 1/4) 10cm
e ]

GEUKI | GFERTE | X ERT S Al Bl JECAE aa | CHRGRTER | IR | Y w R SChk T I B
72 401 [A — gk 296 9.6 119 10/12 12/12]  IV119r K 2 Wi —
72 402 |A — T8k 296 9.9 123 8/12 12/12[ IV I9r K2 ik —
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72 403 |A — ok 28.8 9.7 12.0 9/12 12/12] IV H20t K2 mrt —
73 404 |A — gk 36.9 10.2 139 5/12 5/12 V Hit K2k
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— @ 0 (/4 10cm
— 415 421
SR | BERES | K EEES ARt e JEPE AR B el il ARAN Sk T J LA
405 |[A — FinZ — 11.2 9.6 — 12/12] IV H20r BIVEH ~ K1 |
73 406 |A — XTRAM 11.0 45 2.8 11/12 12/12] N HI19s K1 Kla
407 [A — PRI 111 49 32 10/12 12/12]  VHlq — —
408 [A e 12.3 6.3 3.1 11/12 12/12] IV H20r K1
409 [A — i 25 12.8 6.3 2.7 12/12 12/12]  V Hls — —
410 |A — i 25 133 6.8 2.6 12/12 12/12]  V Hls — —
411 |A — i 2% 13.6 6.5 2.55 12/12 12/12]  V Hls — —
412 [A — i 25 13.3 6.7 25 12/12 12/12]  V Hls — —
73 413 |A — 2 14.7 6.6 2.6 11/12 12/12]  V Hir —
414 |A — P 11.7 5.8 2.3 12/12 12/12]  V Hls — —
415 |A — PRI 12.0 6.1 2.2 12/12 12/12]  VHlq K12 —
73 416 |A — PRI 11.9 5.0 2.45 10/12 12/12]  V H3s — —
73 417 _|A PRI 11.55 5.4 2.0 12/12 12/12]  V Hls
418 |A — pRZAIIL 11.9 5.0 23 12/12 12/12]  VHIs [ H3C7 — —
73 419 |A — P 1.7 48 29 6/12 12/12]  VH3s [+X7 — —
74 420 [A — PRI 126 6.0 25 11/12 12/12]  VHIs |—% — —
421 |A PRI 126 5.8 26 11/12 12/12 —%
422 |A — pIAIIL 12.7 5.4 2.3 4/12 12/12]  VH2s  [hk — —
423 |A — Pl 12.8 6.2 2.7 3/12 5/12] VH3s [tk — —
424 A — PRI 12.4 6.4 1.7 5/12 7/12]  VH3s [+ 307 — —
74 425 |A — PRI 13.0 5.8 2.0 8/12 12/12] N H20r i — —
426 |A — P I 10.8 5.0 2.4 3/12 4/12]  VH3s | — —
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444

(1/4) 10cm
448
TR | GRS | K umES F B TR T e Rk | FU v E STRE T | Jr T
427 A — DL 124 6.0 25 3/12 4/12 _VHIs i — =
428 A — eI 11.2 5.0 2.2 3/12 4/12 IV H20s [} — —
429 A — fle L 139 7.0 1.8 6/12 6/12 IV H20r FHED — —
430 [A eIl 116 50 24 412 12/12] Vhzs |
431 A — B lIL 118 50 2.1 /12| __11/12] N Hzot | — =
132 A — B 130 6.6 24 112 9/12] W H19t | — —
433 A — el 12.6 5.4 2.7 3/12 12/12 IV H20s FHED —
74 434 A — B 11.8 5.0 2.2 2/12 12/12 V H3t FHE — —
74 435 A — BRI 120 6.1 34 412 6/12] _VHes _|AIE x1 —
74 136 A 5k 119 8.5 54| 11/12] __12/12] N HIos = =
74 437 A — Uit S 1ML — 6.0 4.0 10/12 12/12 V Hls K1 —
438 A — [FFA 11.2 6.0 3.8 12/12 12/12 V HI1t — —
75 439 [A 5k 15.7 6.05 9.7 12/12] vV H2t__ |Gkt Al K1 xla
75 440 A _— BRI 10.9 5.7 33 8/12 9/12] _VHzs K1 —
441 A — [IEZN 12.0 6.0 4.0 12/12 12/12 V Hls — —
442 A — [ 11.1 6.7 5.0 12/12 11/12 V Hls — —
75 413 [A 8 10.8 6.6 60| __12/12] __12/12] _VH3s _|~5
444 [A 8 — 6.3 25 | 12/12] _VHes _|~5 = =
145 A — E$ - 6.4 2.7 —[ 12/12] _VH3s A5 —
446 A — AL 14.1 —]| 9.6 3/12 —] V Hls X1 —
447 A — [k 18.9 14.3] 8.7 10/12 12/12 IV HI19s — —
75 448 |[A e 408 = 9.45 3/12 —|_VHa — =
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474

463
m Ci i
(/4 10cm
GhE S KU S AR WIS JERE R | LRORGER IR | JU Y F Sk Rk B 4 AR
449 |[ESYO1 SKO1[F gk 11.6 6.8 4.7 11/12) 12/12) — — —
75 450 |[ESYO1 SKO2 AL 11.4 4.8 6.75) 6/12 12/12) — K2 K1a
451 |[ESYO1 SKO3 [l 12.0) — 2.1 1/12 — — K1 Ala
452 |E_SYO1 SKO3[5fif< Il 11.0) 18 /12 K1 K1 a
75 453 |E_SYOI SKO3[ALi 10.5] 5.8 2.95 5/12 12/12) — FIE K 2 i Alla
454 |ESYOI SKO3 &AL 15.0) — 1.2 2/12 — — A1 Kla
455 |E_SYOI SKO3[ffi#k 28.0] —] 6.95 1/12) — — NS K1b
456 |E SYO1 SKO3[FE L 12.0 5.6 1.8 12/12 12/12 — — —
457 |E SYO1 SKO3 12.4 5.4 2.5 2/12 /12 — — —
458 |[E_SYO1 SKO3[¥ 12.2) 5.8 2.3 1/12 12/12) — — —
459 |ESYO1 SKO3 12.6] 5.4 2.95 2/12 12/12) — — —
460 |ESYOI SKO3[Hk 13.1 53 2.7 12/12) 12/12)
461 |E SYOI SKO3Hk 14.0 6.6 2.75 7/12] 6/12] — — —
75 462 |E_SYOI SKO3 16.4] 12.9) 9.5 12/12) 12/12) — — —
463 |E_SYOI SKO3 18.0) — 6.7 4/12 — — — —
76 464 [E SX04 —] — —] — — — fiL — —
465 [ESX05 12.0) 5.8 2.3 4/12 5/12 — A1 —
77 466 [ SXO7 |k k122 - ] 42| koflzl b e g K1 -
K 10.9 F 5.1 K 8/12] F 8/12
467 [ESX07 i 2 I 11.6 6.4 2.5 1/12 12/12) — FITE A1 —
468 |E_SX08 it 2 ML 10.2 4.8 2.4 4/12 3/12 K2
77 469 |[ESX08 AL 11.0) 5.7 3.4 4/12] 12/12 — VE K 2 i —
470 |E_SX08 Fed L 124 5.6 L.5] 5/12] 6/12 — ~T — —
471 B SX10 it 1L 14.6) 7.9 2.7 3/12 11/12) — % K1 —
77 472 B SX11 HLIL 10.7] 5.9 3.4 3/12 12/12 — K2 —
77 473 B SX12 FEIIL 10.0) 4.8 2.7 4/12 8/12 — K2 —
474 [E SX15 Kk 34.6] — 6.2 1/12 — — K2 —
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SR | BERES | X OEHES Akl [N JEPE A IRk | IR | JU v B SChk THE T A £ AR
475 |E Sx04 _ |[REZ 118 - 6.0 412 - — 1 K1a
476 |E _SX04 KAt — 17 2.7 — 3/12 — 1 Ala
477 _|E_SX04 [ 116 6.0 /12 K1 Ala
478 |E _SX04 |zl 8.2 19 20 12/12 12/12 — T~ K1 Ala
479 |E Sxo04  |msm 108 + 33 £23 1/12) 2/12 — E) K1 X1a
- 143 F 64 F 26 I 3/12 FE12/12
77 480 |E SX04  |HRIL R YR — it 1 X1 a
481 |E_SX04 100 50 2.1 1/12 4/12] __V H5p K2 K1a
482 |E_SX04 160 — 50 3/12) —] — — K1a
483 |E SX04 26.8 108 117 2/12) /12 — K2 Ala
77 484 |E_SX04 130 538 2.7 5/12 12/12) — 1 Kla
77 485 |E _Sx03 11.35 13 59 5/12) 12/12) — EZ] —
486 |E_SX03 93 5.1 Ki 4/12) 12/12) = k2 |kila
78 487 |E_SX03 92 55 2.85 5/12 7/12) AE 2 K1b
488 |E_SX03 8.3 50 2.2 10/12 12/12 — N 1 K1a
78 489 |E_SX03 11.25 6.3 2.9 12/12) 12/12) — K2 mE | —
78 490 |E_SX03 111 65 34 3/12) 6/12] _V H7p [ k2 Kl a
491 |E SX03 10.05 13 24 7/12) 11/12 — 2 Kla
192 _|E_SX03 9.85 125 2.45 10/12 12/12) — K2 Kla
493 |E_SX03 — 129 10 — 4/12 = [ — —
494 |E_SK59 120 6.0 16 11/12 12/12 S
495 |E — 11.3 55 1.65 3/12 11/12_VHip _~o — —
78 196 _|E 13.1 48 22 11/12 12/12 _VHSl _|3%&% — —
197 _|E — 122 50 2.3 4/12) 12/12] __VH6l |y — —
198 |E — — 6.1 12 — 12/12 _VHIL %k — —
199 [ — 1138 6.7 2.2 5/12) 12/12]  VH7p |k — —
78 500 |E — 132 53 2.0 10/12) 12/12] v Hél = —




SHHERT 23 %

(1/4) 10cm
SR | GRS | KRR b [BEE JEETE Ec [ IRRIRT IR JU Y E kR TRV T JF LA
501 |E SX02 ENEEN] 12.4 — 6.1 3/12 —] — A1 Al a
502 |E SX02 x — 4.4 0.75] — 12/12 — K1 Ala
503 |E SX02 x 12.0) — 5.3 3/12) —] — K2 Kl a
504 |E SX02 x — 3.2 038 — 12/12] — K2 Kl a
505 |E SX02 Ui 2 ML 11.0 6.4 2.6 2/12 4/12 Al Ala
506 |E SX02 Uit 1L 10.7] 5.8 2.9 7/12 12/12] Al Ala
108
507 |E SX02 Bt 1L r“(l)g 5.4 2.9 3/12 1/12 Tita K1 K1 a
508 |E SX02 Uit ¢ 1L 11.3 6.8 2.75) 7/12] 12/12] Al
509 |E SX02 Uit 1L 11.3 6.5 2.75] 9/12 12/12] — Al Ala
510 |E SX02 Uit 2 L —| 6.0 1.4 — 3/12 — K1-Kk2 [Kla
511 |E SX02 Gt 52 1L — 6.0 0.5 — 3/12 — Kl1-K2 |[Kla
512 |E SX02 Uit 52 [ 8.9 5.0 2.5 6/12 7/12) — K1 Ala
513 |E SX02 Uit 2 L 11.4 6.0 3.15] 3/12 6/12) — FIfE A1 Kla
79 514 |E SX02 it 2 ML 11.4 6.6 2.55 10/12] 12/12] — RHH L7 Al —
515 |E SX02 AL 11.2) 5.4 4.3 3/12 3/12 Fila _HIATA Kl1-Kk2 [Kla
516 |E SX02 Ui 1L 6.0 0.6 4/12) FIFE Kl1-Kk2 [Kla
517 |E SX02 i 52 ML — 6.0 1.0 —] 12/12] — FIfE K1-k2 [Kla
518 |E SX02 S S L — 5.8 2.3 — 3/12 — FIfE A1 Ala
519 |E SX02 i S I —] 6.0) 0.5] —] 1/12) — FITE K1-Kk2 [Kla
520 |E SX02 FLIL 8.7 5.0 2.5 7/12 12/12 — FIfE K2 Al a
521 |E SX02 i 2 ML 8.7 5.2 2.5 10/12) 12/12]  VH7m _[FI{E Al —
78 522 |E SX02 i 2 ML 10.8 5.4 3.7 11/12 12/12) — fila i AEA A2 Al a
79 523 |E SX02 I 10.8 5.8 3.1 4/12) 7/12]  VHIn [VF K 2 i ALb
79 524 |E SX02 i 11.0 5.2 3.0 9/12) 5/12] VH6n |Gtk 848 L fiiy [k 2 —
79 525 |E SX02 I 11.5] 6.0 3.0 10/12] 12/12) — STt K2 Alla
79 526 |E SX02 TENIL — 6.0 32 — 9/12[  VH7m |ail? 0 A1 —
527 |E SX02 FI DA L 10.0 — 1.9 /12 —|[ VH7n K1 Ala
528 |E SX02 TR 9.8 4.4 2.3 10/12) 12/12]  V H7n — —
529 |E SX02 fek 28.0) — 3.8 1/12) —] — Al Kla
80 530 [E SX02 R 8.2 14.0 12/12[  V H6n Al1-K2
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— 541 (1/4) 10cm
TR Gaws | AR F HE: e Em | aRER ERGER] U E STRE T | JE T
80 531 E SX02 it S L 12.5 7.0| 2.3 6/12] 6/12] — il —HUTATA K1 K1 a
80 532 E SX02 it S ML 13.0] 5.9 5.0 11/12 11/12 — il HUJATA K2 K1 a
80 533 [E sx0z [kl 120 58 28] 12/12]  12/12] VHen |AME x1 =
80 534 |E sx0z ki 120 58 34 9/12 o/l2l  — |k K1 *la
80 535 |E SX02 [ L1zl Lod kg2 6/12 7/12]  VH7Th [ AV %2 K1 b
536 |E sx0z kil 12.4 58 20 2/12]  10/12 T K1 K1a
T8 L -] L - 312 E e/i2
80 537 |E Sx02 | iiie| 64 dizo ifi6/i2l iii2/12 fia X 1 K1 a
F 108 F 55 F 20 Fe/i2 Flz/iz
80 538 | Sx0z_ [Pl 115 50 295 12/12] _ 12/12 V Him
539 E SX02 fle 1L 11.6} 5.4 2.2 11/12 12/12 V H70 —d
540 E SX02 Sl 1L 11.7 4.4 2.3 12/12 12/12 — — —
541 E SX02 P 115 5.7 2.15 7/12] 12/12 V H6n — —
542 E SX02 e 154 8.2 2.6 9/12] 12/12 — — —
543 |E SX02  |PAL 113 5.9 21 12/12]  12/12] VHim = =
544 [E SX02 [P 119 5.4 23 12/12]  12/12] _VH7I = —
545 |E Sx02__ [P 12.4 6.2 2.6 9/12] _ 12/12] _VHn = —
546 E SX02 Fl2 ML 11.9] 5.7] 2.6 12/12 12/12 V H7n
547 E SX02 il 1111 11.9] 5.6| 3.2] 10/12 12/12 — — —
548 E SX02 e 1ML 11.8] 5.4 2.7 10/12 12/12 V H7m — —
80 549 E SX02 IR L 12.0] 5.0| 1.5] 4/12] 11/12 V H7n — —
550 E SX02 Pl 1L 114 4.6 2.8 12/12 12/12 V H7m
551 |E sx0z [P 116 56 25 12/12]  12/12] _VHén = =
552 |E SX0z_ Wi 11.2 14 37 o/t 12/12 1 Kla
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smiremm O IE

0 (1/4) 10cm
[ |

IR | BRERTS | DX Al Bz TR i LTRRIR(PH | AR AR | J U w R kR TR JE AR

553 |E SX02 [i 113 6.0 4.8 12/12] 12/12] V H7n
554 |E SX02 7S 113 6.8 4.8 9/12] 12/12] V H6o — —
555 |E SX02 LG4 12.0] 7.1 4.5 12/12] 12/12] V H7n — —
556 |E SX02 [ 11.8 7.2 5.0 8/12 12/12] V Hén — —
557 |E SX02 k23 11.2 6.2 4.5 12/12] 12/12] V H7n — —
558 |E SX02 K73 11.7 6.0 4.4 9/12 11/12] V H7n — —
559 |E SX02 ik 12.7 7.0 4.7 5/12 12/12] V H7n — —
560 |E SX02 k7 113 6.2 4.2 12/12] 12/12] V H7n — —
561 E SX02 G2 11.6] 6.9 4.2 7/12 10/12] V H7n
562 |E SX02 G2 115 6| 4.3 9/12] 12/12] V H7n — —
563 |E SX02 [FFL 11.6 6.6| 4.2 11/12] 12/12] V H7n — —
564 |E SX02 [ 11.4 6.5 5.0 11/12] 12/12] V H7n — —
565 |E SX02 73 11.7 6.4 3.8 10/12] 12/12] V H7n — —
566 |E SX02 UE73 12.1 6.3 4.9 12/12] 12/12] V H7n — —
567 |E SX02 [Gik7 114 7.3 4.4 12/12] 12/12] V H7n — —
568 |E SX02 Gk 112 6.6 4.2 10/12] 12/12] V H7n
569 |E SX02 [iF 11.0] 4.9 3.9 6/12] 12/12] V H7m
570 |E SX02 [FFL 117 7.0 4.5 8/12] 12/12] V H7n — —
571 E SX02 [FFL 11.0 5.6 3.9 12/12] 12/12] V H7n — —
572 |E SX02 P4 11.7 6.3 4.6 6/12 12/12] V H7n — —

81 573 |E SX02 k23 12.0] 8.0 4.6 12/12] 12/12] VH7m [3%X 2% — —
574 |E SX02 Gk 9.8 59 1.5] —] 12/12] V H7o 2% — —
575 |E SX02 k7 12.0] 7.2 6.4 8/12] 12/12] V H7m — —
576 |E SX02 [ 113 7.7 6.1 12/12] 12/12] V H7n
577 _|E SX02 [iF 12.1 10.5 7.0 12/12] 8/12] V H7n
578 |E SX02 (Rl 12.0] 118 7.8 9/12] 12/12] V H7n — —
579 |E SX02 [ gk 12.5 119 7.7 12/12] 12/12] V H7m — —
580 |E SX02 23 15.2 13.3 10.3 10/12] 12/12] V H7n — —
581 E SX02 K73 15.2 12.2 9.8 10/12] 12/12] V H7n — —
582 |E SX02 Gik7 21.0 18.0] 7.9 3/12 4/12 V Hén 3% +2% — —
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(1/4) 10cm
RN | SEES | X ERR S il Wi A finle TR | IEARGER | U v R Sk TR e

583 |E SBOL __[smdlil 106 53 29 2/12 312 VHsn _|HIE K la
581_|E_SBOI [l — 6. 14 - 412 — A A1-kz [Kla
585 |E SBOI __[ii<lll 58 23 3/12 vV Hon _|AIE Ki-kz [kla
586 |E SBOI __[sielll = 6.2 27 = 1/12] _VHsm x1 K1a
587 |E SBOI __[sielll = 70 27 = /12| VHsm |AIfE K1-kz |Kla
588 | B SBOI __[tRIEFAIL TN 538 2.0 2/12 2/12] _VHsn %1 Ala
580 |E SBOI __[HiHAL 120 5.4 24 6/12 8/12] v H5m A
590 | B SBOI __|Bail 1.7 52 30 11| 1e/izl  — — =
591 |E SBOL __|pasill 121 54 225 5/12 g — = =
592 |E SBOI __[i# 320 — 145 1/12 - — Kz —
595 |E SBOI __|faél 130 127 2712 K2 K3
594_|E_SBO1 __[uifd = 120 58 = T — =
595 |E SBO1 |tk 158 140 965 3/12 3o — — —
596 |E SBO3 |k — 16 14 —| 1212 Vibm K1 —
597 |E SBO3 |l 110 54 6.0 2/12 3/12] v Hom %1 —

81| 508 |E SB03 _|fubi 1.9 57 66| &2l 121z — A =
590 |E SBO3 __[fufi — 52 43 = 8/12_V Hom A1 -
600 |E SBO3 _[sil 109 58 27 1/12 1/12] _V H5n K1 —

81 | 601 |E SBO3 |ici S| N o I S 712 12/12] o~ | B x1 Ala

81 | 602 |E SB03 | 150 = 15.1 312 = A
603 |E SBO3 & 158 — 11.7 4/12 — — {3\ BN W

81 | 604 |E SB0S _[IfRAIl 289 = 92 /12 - = BV -
605 |E SBO3 |k 278 = 80 a/12 = £ 1 —
606 | _SB03 |tk — 100 55 = g — BNE k2 |-
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N >

0 (1/4) 10cm
TR | G | K amES Ei 7% T Tl | R R FU U E Fa TR | JFCmA
82 607 |E SB03 __|m#k 275 94 6] 12/12[ 12/12 AT
608 |E SBO3 [k 29.0 95 117 312 1212 BN —
609 E SBO3 [EEZN — 5.5 2.6 — 12/12 V H5m T — —
82 610 E SBO3 [ 11.5 6.0 6.0 12/12 12/12 — T — —
611 |E SB03 __|Wgk 115 49 12 6/12 6/12] Vism |1 <%
612 |E SBO3 |l 111 52 22| __10/12 __12/12] _VH5m - =
82 613 |E SB03 _ |m& 128 52 26] _10/12[  12/12] V H5m = =
82 614 E SBO3 eIl 13.5 6.1 2.7 2/12 12/12 — ERdEl] — —
615 |E SBO3 _ |W& 135 54 23 /12 6/12] v Hom — =
616 |E SBO3 __ |m& 140 6.2 2.7 6/12___12/12]_V H5m — =
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0 (1/4) 10cm
632
SR | GEES | K EMES kR CIf% JETE i CIRRIRL% | ECHRrR | JU v B Sk [ La S B

617 |E SK55 B2 L 11.3 6.6 2.6 10/12 6/12 — K1 Kla

82 618 |E SK56 Bt 2 L 10.9 6.0 45 11/12 12/12]  VH5m _|dih K1 Kla
619 |E SK56 A L 10.3 5.1 2.7 12/12 12/12]  V H5m HIVET —

82 620 |E SK56 [ 11.2 5.2 2.2 11/12 12/12] V H5m A KIa

82 621 |E SK56 BT I 13.3 7.1 2.6 8/12 12/12]  V H5m Kl Kla
622 |E SK57 Bt 2 [ 11.2 6.4 2.7 12/12 11/12 — PN K1a
623 |E SK57 St 2 L 11.2 6.3 2.7 11/12 12/12 — Al Kla
624 |E SK57 Uik 1L 114 6.8 2.55 11/12 12/12 — Al Kla
625 |E SK57 B2 L 12.0 7.0 2.65 3/12 6/12 — Al Kla
626 |E SK57 BT 0L 12.1 5.6 25 11/12 12/12 — A1 Kla
627 |E SK57 ik 29.6 — 8.9 6/12 — — BIVH Kla
628 |E SK57 fh#k 29.2 10.3 10.9 2/12 12/12 — Al Kla
629 |E SBO2 Uit 1ML 8.8 5.0 2.3 2/12 12/12 FIE 643 LHEL A2

82 630 |E SBO2 B 52 L 10.7 5.8 2.8 4/12 11/12]  VH3m [HE A1 —
631 |E SBO2 Bt 2 L 9.7 4.7 2.3 9/12 6/12 — e K1 KIb
632 |E SBO2 St 52 L 9.2 5.0] 2.4 10/12 12/12 — FIE Al Alb
633 |E SBO2 Uik 1L 7.8 46 2.5 1/12 2/12] _V H3m K1
634 |E SBO2 B2 L — — — — — — 629 Lkt K2 —
635 |E SBO2 Ui 1L 11.0 5.4 26 9/12 8/12] V H3m Kl —
636 |E SBO2 FEIIL 10.7 6.1 2.4 3/12 12/12 — K2 —

83 637 |E SBO2 BN 14.5 —] 13.4 12/12 — — 638 Ll — BIVH~ K1 [—

83 638 |E SBO2 B 14.0 —| 13.3 12/12 — — 637 LIl — BIVEi~ K1 [KTa
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é —_
Q 642

647 0 (1/4) 100m —
iii‘ 650

G | BERES | XOEES ARAR [BE JEETE A CIfgTR(F | BEHRERIrE | J Vv R Sk TR A JEEAAE
639 E SBO2 TR 33.2 — 7.8 1/12 — — K1 —
gk — — — BV~ K1 |—
FEGE —] 1 —[ 12/12 — K2 K —
[FF § 1
[ §4 1 11/1 — = —
SBO2 UikZ 1 — —
SB04 fh#k — K 3wt Al
1 1 iR iR I
SBO4 Uit S ML 5 h il o8/12|  Hi12/12 it K1
F 6 ~12/12] R 12/12
SSSSS it S —] — Ui S L + FEEA Al |
SB0O4 it S L . 6.2 2.5 1/12 4/12 — K1 K1
4 Ui 52 ML 11.4 6.2 3.0 3/12 10/12 — FIE K1 Kla
4 Ui 52 ML 11.8 6.3 5.3 6/12 6/12 V H4m Fl FI{E K1 K1

38



Wi
N
‘Q\\ e

651

662

663

——— o

NG ‘

il

h}
RS
¥

(o))
[N
(o)}

B

)

-

q
|
A \

4,

| —————
=
a —
668
u 661
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~

0 1/4) 10cm \E
—— 669
HEPR | GRS | K OERRS o [BIES JECTE i IRRIRIH KSR ] JU Y E
83 651 |E SX06 FLH 122 — 59 10/12) —] — i A1 Ala
652 |E SX06 ENEERE 11.6 —] 5.5] 3/12) — — K2 —
653 |E SX06 JEgT L 111 4.2 2.2 5/12 10/12] — ZIV —
654 |E SX06 Ui S 8.6] 5.0 2.2 12/12] 11/12] — N Ala
83 655 |E SX06 Uit 2 1L 11.3 6.3 3.0 10/12] 12/12] Al Kla
656 |E SX06 Uit ¢ ML 10.9 5.8 3.0 11/12] 12/12] — A1 K1a
83 657 |E SX06 Bt ML 11.2 6.2 29 11/12] 12/12) — St 52 L + FcRA L K1 —
658 |E SX06 it S L 1.7 6.5 3.0 5/12) 1/12) — A1 Ala
659 |E SX06 i i L 114 5.3 2.7 2/12 2/12) — EN Kla
660 |E SX06 Ui i L 12.2 6.6 2.9 9/12 10/12] — A1 Ala
661 |E SX06 Ui S ML 1.7 6.0 2.4 5/12) 12/12] — K1 Ala
83 662 |E SX06 i ST 11.4 6.2 2.7 4/12 12/12] — FIE A1 Ala
663 |E SX06 Ui I 11.5 6.4 238 5/12) 12/12] FITE Al Ala
84 664 |E SX06 Uit ¢ 1L 11.6 6.3 3.1 11/12] 12/12] — FITE A1 Ala
665 |E SX06 it 52 ML 1.7 6.3 29 6/12 8/12 — FIfE AL Ala
666 |E SX06 it S ML 115 6.2 3.1 3/12 3/12 — FIfE A1 Ala
667 |E SX06 i L 12.5 6.2 3.2 9/12 11/12 — FI{E A1 Ala
668 |E SX06 i 115 6.2 2.9 12/12) 12/12] — FIfE K1 Ala
669 [E SX06 Ui S I 1.7 6.0 3.0 11/12) 12/12] — FIIE N Kla
670 [E SX06 Uit 2 1L 10.3 6.4 3.0 6/12 12/12) FIITE EN Kla
671 |E SX06 Uit L 11.2 6.0 29 10/12] 12/12] FIITE A1 K1a
84 672 |E SX06 bt 52 L 11.5 6.4 29 9/12 12/12] — FITE A1 Ala
673 |E SX06 St 52 ML 11.8 6.1 3.0 3/12 12/12) — FIfE A1 Ala
674 |E SX06 it 52 L 115 6.3 3.0 11/12 12/12) — FIfE A1 Ala
675 |E SX06 it ML 11.6 6.0 238 7/12) 12/12] — FIE K1 Ala
676 |E SX06 it 2 1L 111 6.7 2.8 12/12) 12/12] — FIfE K1 Ala
677 |E SX06 Ui I 11.4 6.3 2.9 6/12 9/12 — FIE N Kla
678 |E SX06 Uit 2 1L 11.6 6.2 3.0 10/12] 12/12] FIITE Al K1a
84 679 |E SX06 Uit ¢ 1L 11.6 6.6 3.1 8/12 12/12] — FIITE A1 K1a
680 |E SX06 Bt 2 ML 113 6.2 3.1 10/12] 12/12] — FIE AL K1a
681 |E SX06 it 52 L 111 6.1 29 /12 12/12) — FIfE A1 Ala
682 |E SX06 Uit i L 11.4 6.7 2.9 12/12 12/12 — FIfE A1 Kla
84 683 |E SX06 i L 9.5 4.8] 24 6/12 12/12] — FIfE A1 Ala
84 684 |E SX06 LI 10.8 5.8 2.7 8/12) 12/12] — NES K2 it Al a
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(1/4)

10cm

RN | RS | K OHRERS il B JEETE R IR | R | JU v R STk R LA

85 687 |E SX06 gk 29.0 10.8 11.0 12/12 5/12 — K1 Kla
688 |E SX06 gk 276 11.7 115 1/12 2/12 — BIVH —

85 689 |E SX06 % 16.5 114 17.0 5/12 11/12 — BV~ K1 | —
690 |E SX06 & 125 — 6.8 2/12 — — — Kla
691 E SX06 Fi] 10.6 4/12 Kla

85 692 |E SX06 ARl 126 53 33 10/12 12/12 — K1 Kla

85 693 |E SX06 e 13.5 6.3 2.3 6/12 12/12 V H3m 1% — —
694 |E SX06 A 121 5.5 1.8 9/12 12/12 VH3m [T — —

85 695 |E SX06 [ 4 116 6.6 5.7 12/12 12/12 7
696 |E SX06 [ 4 13.0 59 5.0 3/12 8/12 — 1% — —
697 |E SX06 62 116 7.2 4.3 12/12 12/12 — — —

86 698 |E SX06 [ 19.5 17.0 6.6 4/12 8/12 V H3m — —
699 |E SX06 JOE73 19.8 17.0] 7.0 5/12 5/12 — — —

86 700 |E SX06 Uik 20.4 179 8.1 5/12 7/12] 'V H4m — —
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smHERm T8

0 (1/4) 10cm
GHEMW | SRk | X EES Akl [WfE JERE AR IR | AR | JU Y F Xkk T A JF A

701 E SX06 [ 11.6 6.6 4.6 5/12 12/12 V H3m —
702 |E SX06 |k 10.8 6.2 a7l 1212 1212

703 _|E_SX06___|Egk 123 6.0 19 ozl 12/i2  — -
704 |E SX06 |k 12.1 6.0 15 8/12]  12/12] Vi3m =
705 E SX06 23 11.5 6.2 49 2/12 12/12 — —
706 _|E _SX06__|i§ 114 6.0 45| 1212 12/12] -
707 _|E_SX06___ | 11.3 6.8 44 7/12 o1z — -
708 |E _SX06 |l 12.1 6.5 42| 10/12 _ 12/12] _VH3m =
709 E SX06 |03 12.4 6.5 4.7 9/12 12/12 — —
710 E SX06 [ § 12.0] 5.4 4.8 10/12 12/12 V H3m —
711 E SX06 .54 14.4 11.8 9.4 4/12 9/12 V H3m

712 _|E_SX06___ | 152 12.0 10.4 3/12 6/12] _V H3m =
713 E SX06 [EEZS 15.4 11.0 10.6 8/12 12/12 V H3m —
714 E SX06 [ 15.3 11.8 9.7 11/12 7/12 — —
715 |E SX06 |k 16.0 1.9 105 /12 5/12

716 |E_SX06___|Egk 16.0 114 104 3/12 7/12] _V H3m -
717 |E SX06 |k 154 120 93 a12] 12z — =
718 E SX06 [FFi 15.2 11.6 10.7 8/12 12/12 — —
719 |E _SX06 [l 15.2 12.3 106 712 11/12] vV i3m —
720 |E_SX06___|mgk 174 12.0 10.2 3/12 612 — —
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721

723

1 730

731

732

733

739

741

%

i)

745

754

== R, e
R PN 2 755
— = \
— 743
p— @ 748 <9§
736 \
| 756
— 737 —
Y 749
0 (1/4) 10cm
— 744
G | Gk | X U il BIE3 I TE | LR R e Y v E SR T o JF Ffate
721 _|E — i — 50 25 - 6/12 vV H6l IV —
722 E — S — 4.4 2.7 —] 10/12 V H4l K1
723 E — — 4.9 1.7 —] 6/12 V Hé6p K1 —
36 724 |E — 119 12 6.6 9/12 12/12] v Hbl K1 K1a
36 725 |E — 1.7 4.2) 6.3 10/12) 12/12] v H5l J1 kla
726 |E — 128 — 53 2/12 —|_vHsl BIVHT —
727 _|E 116 6.0 3.8 2/12 11/12] __V H5l 1 K1a
728 E — 11.6} 5.8| 6.3] 11/12 12/12 V H51 K1 Kl a
729 E — —]| 5.9 3.2] — 12/12 V H6l K1-K2 —
730 E — 10.4 5.3 2.3 6/12 12/12 V Hél %IV K1 a
731 E — LT I 11.0] 5.4 2.4 9/12 12/12 V Hé6l V#T K1 a
732 |E — T 11.2 52 215 11/12 12/12 — IV B —
733 |E — T 106 5.5 2.45) 12/12) 12/12] Vv Hel V¥
734 |E — Tl 10.7 5.5 2.3 10/12) 12/12] Vv Hel Vi —
735 |E i 10.75 46 2.35 10/12) 12/12] Vv Hel Vi
736 |E — — 6.0 2.2 — 6/12 _ V HTl IV —
737 E — JTiL 11.25 4.9 2.2 9/12 12/12 V H6l Vit —
738 E — Tl 10.9 5.7] 2.5] 5/12 6/12 V Hél VT —
739 E — T Im 10.1 5.25 2.5] 3/12 12/12 V H6k V# —
740 |E An 11.2 59 2.5 10/12) 10/12] Vv Hel Vi —
741 |E — ErEEm 118 6.1 2.5 5/12 5/12] Vv H6l K1 —
742 |E R 1L 12.2 5.4 2.8 3/12 5/12] vV Hel k1
743 |E_— [ 12.2 6.0 3.0 4/12 12/12]__V Hel 1 —
744 E — Rl L 11.85 5.8] 2.7 4/12) 12/12 V Hél K1 —
745 E — i S L 11.0} 5.6 2.8 2/12 12/12 V H51 K1
746 _|E_— B — 6.2) 2.4 — 7/12] _V Hip A1 —
747 E — i[5 I 114 5.8] 2.5] 1/12] 12/12 V H51 FI{E A1 K1 a
748 |E — Br — 73 1.3 — 6/12]  VH70 |ANE Jl-k2 |
749 |E — BEIEIL — 6.0 2.85 — 6/12 Vv H7p Kil-k2 |
750 |E i 52 1 118 58 30 2/12 6/12] vV H7r _|AHE K1
751 |E — R — 6.2 0.65 — 8/12] vV H5I _|ANE Ki-k2 |
86 752 E — it S ITIL 11.6] 6.0| 2.9 1/12] 10/12 V H7o0 FIIHE K1 —
87 753 E — it S 1ML —]| 6.1 1.5 — 10/12 V Hb5n FI7E K1-Kk2 —
754 |E_— B S ML 92 5.2) 25 1/12 10/12] __V H7p __|A{E A1 —
87 755 |E — I 1L 9.05 49 2.05) 5/12 12/12] vV Hel _[FlE K1 —
87 756 |E — [ 77 49 18 12/12) 12/12] vV Hel _[AlE E —
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R

== - — T

- 0 1/4) 10cm
69 ]

I

~
o]

| W
G | GFEERS | XGRS bl [l JEE A IR | AR ER | JU v kR A JF EAE A

757 _|E — Ui S I 8.2) 4.9 2.1 12/12] 2/12 __V H6 IN =
758 |E Dt ML 8.2) 4.9 2.2) 7/12 2/12] _V H6 K
759 |E — it ¢ I 8.25] 4.8 2.15 10/12] 2/12 __V H6 IN =

87 760 |E B ML 8.2) 2 1.95] 10/12) 2/12] V16 K
761 _|E — it 2 I 8.3 5.0 2.15 2/12 2/12 __V H6 IS =
762 |E DR ML 8.4 5.1 2.2) 6/12 6/12] V16 N
763 |E — it s I 8.7 4.9 2.4 7/12) 12/12] __V H6 K
764 |E — D ML 8. 5.2) 2.25 2/12 11/12] _V H6 K1
765 |E — it i L 8.6 4.6 2.0 2/12 7/12] __V H6 K1 =
766 |E — B ML 8.65 5.6 2.0 6/12 12/12] _V H6 N =
767 _|E — B ML 9.2 5.4 2.4 3/12 6/12 __V H6 K =
768 |E Dt L 9.4 4.6 2.35) 2/12 3/12] _V H6 IS
769 |E — Bt [ 3.8 5.3 2.05) 7/12 10/12] __V H6! K =
770 _|E — DR ML 9.0 5.6 2.15 4/12 9/12] __V H6 N
771 _|E — Bt [ 9.0 5.9 2.2) 9/12 11/12] __V H6 K
772_|E — D ML 10.2) 6.4 3.0 2/12 4/12] _V Hbg K1 —
773 _|E — B I 10.2) 4.7 3.1 3/12 7/12 __VHT K1 =
774 _|E — DR ML 10.8 6.4 2.5 8/12 11/12] _V H6l K1 A1a
775 _|E_— Bt I 10.5) 5.4 2.4 3/12 4/12 __V H6 K1 =
776 _|E — B ML 10.9 5.4 2.45 3/12 8/12 _V H6 K1 =
777 _|E_— Bt I 10.6) 5.8 2.7 4/12 6/12 __V H6 K1
778 _|E — B ML 10.6] 5.5 2.5 7/12 12/12] _V HT K1 =
779 _|E — B ML 10.75 6.7 2.4 9/12) 11/12[ _ V H6 K1 =
780 |E — B2 L 10.8 5.5 2.9 1/12 12/12] _VHb K1 K1a
781 _|E — Bt [ 10.7] 5.4 3.1 7/12 12/12] __VH5 K1 Ala
782 |E — DA L 10.5] 6.6 2.1 2/12 7/12] __V H6 K1 —
783 |E — Bt LI 10.9 6.2 2.5 4/12 5/12] __V H6 K1 =
784 |E — B ML 10.9 6.4 2.8 3/12 6/12]  VHT K1
785 |[E — Bt 1L 10.7] 6.7 2.55] 7/12 10/12] V H6l K1
786 |E — B I 11.1 5.6 2.75 5/12 6/12 _ V H5 K1 —
787 |E — B I 111 6.0 2.8 3/12 7/12]  VHén K1 =
788 |E — B ML 11.3 6.6 2.65 2/12 8/12] VvV Hel K1
789 |E — EEam i 11.3 N 6.5 i 2.7 L10/12 le/lz V H71 K1

12.6] 5.6 2.5 4/12 4/12 )

790 B — L FIT0 T2 Feds Foang  F ez VHIP KL S Al —
791 _|E Uit I 1.1 5.0 2.9 3/12 3/12] vV H4l K KTa
792_|E — B I 1.3 6.2 2.6 6/12 12/12] __V H6l IN =
793 |E — it 2 [ 1.3 6.2) 2.1 2/12 12/12] _V Hip K —
794 _|E — it 2 [0 1.5 7.2) 2.8 9/12 12/12] __V H6l EN =
795 |E it [ 2.0 6.0 2.4 3/12 5/12] _ VHT BN
796 _|E — Bt [ L7 7.2) 2.7 5/12 6/12 __VHT IN =
797 _|E Vit I 1.8 6.8 2.6 1/12 6/12] __VH5 K
798 |E — it ¢ I 1.6 7.0 2.7 5/12 6/12 __V H6 IN =
799 |E Uit I 1.3 6. 2.65 2/12 8/12] VHT K
800 [E — LI 2.1 7.4 2.5 2/12 3/12] __VH5 K2 =
801 [E [ 0.3 5.4 2.2) 10/12) 12/12]  V H4 AT K1a
802 |E — T I 0.8| 53 1.85 2/12) 12/12] _V H4 [T IUL + B [ [#EIVai~K1 KT a
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803

smirEmm )8

. (
g:% J - 810
805
N — —] 7 — 819
| — 1 = 811

- 820

0 (1/4) 10cm
[ ———|

GRS | KRR S Akl =i JEETE i) TRRRA7H | IEARGAER | Uy K ek TRV JE B
803 |E — FRHIY L 77 3.0 2.0 2/12 4/12[ _VH7p BV —
804 |E AL 9.3 5.0 23 4/12 6/12 VHip |[J*F K 2 ik
805 |[E — AL 8.8 5.6 2.05 3/12 4/12] VvV Hép K2 —
806 |E — AL 10.3 6.0 2.6 /12 7/12  VH7p |AME K2 —
807 |E — UL 10.7 56 23 3/12 5/12] _V Hép K2 —
808 |E — EEIIL 1.2 —] 1.9 2/12 —| VHm K1 —
809 |[E — R 10.0 —| 1.9 2/12 —| VH50 K2 —
810 |E — R 10.3 5.4 22 2/12 2/12[  VHTp k2 —
811 |E — FEIIL 10.6 6.2 25 5/12 5/12]  VH7p K2k —
812 |E — EI 9.9 5.0 24 6/12 5/12] v Hb0 K2 %F —
813 |E B L 9.8 56 1.9 /12 2/12] Vv Hép K2
814 |E — L 9.2 52 2.0 2/12 2/12]  VH7g k2 —
815 |[E — EeIA L 117 48 2.1 3/12 12/12]  V H9m K1 —
816 |E — EEIAIIL 118 43 23 4/12 12/12] _ V Hél K1 —
817 |E L% 1.7 1.7 12/12] vV H5l BIVHT~K 1
818 |E — O B 32 —] 9.1 12/12 —| vHsl — —
819 |[E — R 25.9 —] 6.2 2/12 —|  VHsr %IV I —
820 |E — Rk 30.2 —] 6.2 2/12 —| _VHsl BV —
821 |E — AL 296 — 9.0 3/12 — vHsl A%G —
822 |E — & — 13.0) 27.0 —] 7/12] vV H51 P —
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SR

FioHEER ™

825
(1/4) 10cm
|
1

[RE JETE Fe] LIRERL% | Esifr R | Vv R STk TRV A H L
E — hk 28.4 9.4 10.9 10/12 12/12]  V H51 K1 Al a
E — sk 28.2 9.2 119 12/12 12/12 V H6l K 1% —
E — fhk 33.0 — 10.6 3/12 —| _ VH4m K2 Ala
E — I $4 21.2 18.8 6.6 4/12 6/12 — — —




10cm

BRI | BEES | K HMES [ B JETE AR Bl adli G ad AR STk TR T LA
827 |E — i §4 17.9 14.5 75 8/12 8/12]  VH5I — —
89 828 |E — Bl 145 — 134 5/12 —| _VHTI — —
829 |E — 14.1 — 8.8 2/12 —|  VH4m — —
830 |E — 3 15.4 12.9 10.3 5/12 12/12]  V H4m — —
89 831 |E — Bl — 11.6 11.8 — 4/12]  VHTI — —
832 |E_SX02 i § 118 6.8 43 11/12 12/12]  V H7n — —
833 |E SX02 |1 4 11.8 6.1 438 12/12 12/12] V H7n
834 |E SX02 [ 4 12.1 6.4 46 7/12 12/12]  V Hén — —
835 |E SX02 I § 11.6 7.1 46 7/12 12/12]  V Hé6o — —
836 |E — L5 12.2 55 44 12/12 12/12]  V H4l — —
837 |E [ 4 118 6.4 49 11/12 12/12]  V H6l
89 838 |E — [ 4 11.8 6.5 4.2 10/12 12/12]  V Hél [ — —
89 839 |E — [ §4 11.8 6.9 4.6 1/12 12/12]  VH6l _|[~F — —
89 840 |E — [ —] 6.4 16 — 12/12]  VH7o _[#HI — —
89 841 |E — PRI 14.7 6.4 2.9 10/12 12/12]  VH5 _[if] — —
90 842 |E — Pedalil 10.9 54 2.2 12/12 10/12]  VH5m [~5 — —
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0o X

FimH-EEN O

847
— 848
:':—/8;9
——— 850
—
I i
e 851
852
] 863
1 862

] 0 (1/4) 10cm

= 866
G | SRS | KRR S b [WfE JERE A IR | AR | TV B Sk R H L H
843 |D — R I 11.2 4.0 19 3/12 5/12]  V H8m A1 —

90 844 |D — [ 9.2 5.2 2.2 6/12 11/12 — Al KIa
845 |D TO1 B2 L 8.3 5.6 2.3 3/12 3/12 A1 KIa

90 846 |D — Ui 0L — 5.0 15 — 12/12]  VH7L _[AWE2 hi K1 —

90 847 |D — sk 20.0 — 5.1 2/12 —|  VHSj Al —

90 848 |D — PRI 11.4 48 2.3 5/12 12/12]  V H4k — —

90 849 |D TO1 = 17.3 75 2.3 3/12 11/12
850 |D TO1 P 13.1 6.2 2.6 3/12 12/12 — K1 KIa
851 |D TO1 A RIBE A L 13.0 6.5 2.8 2/12 12/12 — K1 Kla

90 852 |D TOl TR L 12.6 5.8 2.8 6/12 12/12 — Al Kla

90 853 |D 3 10.8 5.8 5.3 7/12 6/12]  VH8l 3%

854 |D — [ ¢k — 5.7 1.8 — 10/12]  V Hek [k — —

91 855 |D — I 11.0 5.8 39 6/12 12/12|  VH7j |37 — —

91 856 |D — i $k — 6.0 1.7 — 12/12]  VHek [k — —

91 857 |D — 3 — 6.0 14 5/12 —[ VH9 [he — —

91 858 |D — 7L 11.6 6.5 2.7 11/12 12/12]  V H4g —

91 859 |D — Fuii 12.8 6.0 2.8 11/12 12/12]  VH5f [ — —

91 860 |D SK35 /1B 8.2 3.7 3.7 12/12 12/12 — AV RV

91 861 |[D — HE 4.9 7.2 10.75 10/12 12/12]  V H5g — —

91 862 |D K 275 18.7 14.2 5/12 11/12]  V H5f %8 19¢ 4]
863 |D — I 11.6 4.6 33 6/12 7/12] VH 17g -1 |8 — —
gea [0 TOL 125 6.0 28 3/12 /12| VHIr — —
865 |D — 1L 116 4.6 3.3 6/12 7/12]  VH2t @ 12 WK — —
866 |D — (LR 13.0 3.6 3.6 11/12 12/12]  VH5g [ KK — —
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p—— 887
881
@ — 0 (/4 10cm
882 884 — ]
HEP | SRR | K EMES Ak B JECPE A IR % | KSR | JUy B SOk [ 3 s LA

867 |C SK20 L — 6.6 2.2 — 3/12] IV I20e A1 —

868 [C SK27 Bt 52 L 115 6.0 2.7 3/12 6/12] IV 120e A1

869 |C SK44 Bt 52 L 11.8 6.7 3.2 10/12 12/12] N 119 A1 —

870 |C P24 JE4T I 9.0 4.7 2.0 2/12 12/12 V I2e HBIVET —

871 |C P50 St 52 L 9.2 5.0 26 6/12 6/12 V I2f A1 —

872 [C ik 29.4 5.0 1/12 V 12e BIVHI~K1 [KIa

873 [C — &8k — 10.2 8.8 — 3/12]  Vize K12 Ala

874 |C P57 P 25.2 —] 11.9 10/12 —|  ViIze — —

875 |C P57 [ 15.4 12,5 9.2 12/12 12/12 V I2e — —
92 876 | C SD05 PNEEN] 12.1 48 7.05 11/12 12/12]  IV119e A1 Ala
92 877 |C SD05 Bt 52 1L 1.7 6.3 3.1 8/12 12/12]  NIU9f  [AKE A1 Ala
92 878 |C SDO5 i 0L 11.6 6.6 265 6/12 7/12]  WV119e [HIE K1 —
92 879 | C SD05 Bt 2 L 12.1 6.9 2.8 8/12 12/12] N 119e K1 Kl a
92 880 [C SDO5 Bt 2 L 11.4 6.5 3.0 9/12 12/12] N 119f A1 Ala
92 881 |C SDO5 Bt 52 L 8.45 4.85 2.4 9/12 11/12] N119 A1 Ala
93 882 |C SDO5 B2 L 8.7 4.6 2.2 6/12 4/12]  W119e 897 L& K1 KIa
93 883 | C SDO5 Bt 2 L 11.7 6.8 25 11/12 12/12] N 119f K1 Ala

884 [C SDO5 ST 10.0 5.0 2.6 3/12 4/12] IV 119e A1 Ala
93 885 [C SDO5 AL 11.6 45 2.7 10/12 12/12] NV 119f A1 Ala
93 886 | C SDO5 &8k 295 9.2 11.7 5/12 12/12] N 119 A1 —

887 |C SD05 FerlL 10.7 4.4 2.1 12/12 12/12] N 119f K1-2 Kla

888 | C SD05 B AL B 2.4 b 2.4] H& 6.04g 5/12 —| WI19e — —
93 889 [C SDO5 IR 12.1 6.0 3.5 11/12 12/12] NI119% [LHL% — —

890 |C — o Rirpe AL 11.6 4.8 2.5 2/12 3/12]  WW119e K1 —
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0 (1/4) 10cm
922
PR | GRS | X RS P B JEETE he IR IR rR ] JU v F Sk TRV A JF LA

891 |C SDO06 PNEENT] 12.0] —] 5.5] 1/12) —| WIiof N Kla

94 892 [C SD06 EEEam 11.2) 6.0 2.8 8/12 12/12] IV 119f K1 Ala
893 [C SD06 i S I 11.4 6.2 3.0 6/12 12/12[ IV 119f K1 Kla
894 [C SD06 Ui S 11.4 6.8 2.8 2/12 12/12]  IV119f N Ala
895 [C SD06 Ui S I 11.7] 6.4 3.1 6/12 12/12 IV T19f Al Ala
896 |C SD06 Uit ¢ 1L 11.5 6.2 3.2 6/12 5/12[ IV 119f A1 —
897 [C SD06 AL 8.6 5.0 2.15) 3/12 5/12]  INI19f  [882 L&y A 2 i —
898 |C SD06 AL 12.4 5.5 2.4 6/12 12/12] W I119f A1 Ala

94 899 [C SDO05 R —] 12.3] 8.0 —] 11/12[ IV 1I9f #%IVET - K1 [Kla
900 |C — Bt ML 11.2 6.4 2.7 1/12 6/12] IVI118i A1 —

94 901 [C SDIO PNEENG 115 37 6.3 10/12] 12/12] WV I120f K2 Klb
902 |C SDIO PNEENC 11.9 — 5.4 5/12) —|[ Wieof K2 —

94 903 [C SD10 10.2) 6.0 438 12/12] 12/12[ WV 120f Al Ala
904 [C SDI10 9.2 4.8 2.6 7/12 12/12[ IV 120f A1 —
905 [C SDI0 10.5] 6.3 25 5/12) 12/12] IV 120f A1 Ala
906 |[C SDI10 9.0 47 23 6/12 11/12] WV I20f [FIFE A1 —
907 _[C SD10 9.1 4.9 2.0 6/12 11/12]  WI120f |HI{E A1 —

94 908 |C SDIO HLi 10.8 5.6 2.9 6/12 11/12]  WI120f [VF K 2wk Al
909 [C SD10 FLIL 1.7 6.5 29 7/12 4/12]  WVI20f  [VF K 2w —
910 [C SDI10 I 10.5) 5.7 2.3 3/12 12/12] 1V I20f K2 Kl a

94 911 [C SDI0 1l 10.2 48| 2.7 12/12] 12/12] IV 120f K2 —

94 912 [C SDI0 [ 10.4] 5.4 25 12/12 12/12] IV 120f K2 Kl a
913 [C SDIO [ 9.9 4.7 2.7 11/12) 12/12[ IV 120f A2 Al a

95 914 |C SDI0 Il 10.4] 53 2.5 12/12) 12/12[ IV 120f A2 Al a
915 [C SDI10 PORIEEIL 10.7 49 2.7 9/12 12/12] IV 120f K2 Al a
916 |[C SDI10 [T I 11.6 5.0 2.7 4/12 9/12] IV120g AR —

95 917 |C SDIO AN 34 6.0 6.2 11/12] 12/12[ 1V I20f K1-2 Ala
918 |C SDIO R 12.0 1.6 6/12] IV I20f BIVH~K1 [KTa

95 919 [C SDI0 Z. 12.0 10.6) 9.0 9/12 9/12[ IV I20f A1-2 K1a
920 [C SDI10 15.2 12.8 10.3 8/12 12/12] IV I20f — —
921 _|[C — 11.4 — 4.9 /12 — viid K2~3 —
922 [C — 11.6] — 5.3 2/12 —  vid A1 —
923 [C — 11.4 — 6.0 4/12 —| NI8i [GND) Ala
924 |C — 12.0 — 6.1 4/12) —| WIi7h A1 —
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925 11.4 — 5.0 9/12 —|[ WNIi8h %IVHT Ala
926 —] 3.8 2.1 — 12/12]  V1i8e BIVH - K1 [Kla
927 11.6 44 6.6 1/12) 12/12]  V H7I K1 —

95 928 29 4.5 7.1 7/12 12/12] N 119 Al Ala

95 929 12.0 43 74 4/12) 12/12] NV 119e Al Kla
930 12.4 45 6.9 5/12] 12/12[  IV118h IS —
931 124 45 6.9 6/12 6/12]  IV118g A1 Ala
932 12.2 4.2 7.3 /12 6/12]  IV118f A1 —

95 933 12.1 4.6 6.55 11/12 12/12[  IV119g A1
934 11.8 4.75) 7.25) 10/12) 10/12[  IV119g A1 —

95 935 11.8] 4.3] 6.9 10/12 12/12]  WVI1i8h K1 Ala
936 11.8 4.6 6.8 7/12 12/12  IV1i8g A1 —
937 11.9 4.0 7.35) 10/12] 12/12[ IV T19f Al

95 938 11.8 4.4 7.0 9/12 12/12] — A1 K1a

96 939 118 42 73 10/12] 12/12) — A1 —
940 12.0 43 6.8 /12 12/12[  IV118i A1 —
941 13.9 4.6 6.6 /12 12/12[  IV118i A1 Kla
942 13.4 —| 6.7 3/12 —| WIi8g K1 Ala
943 11.8 — 5.2 3/12 —| WVIi9g A1 —
944 12.2 6.2 4/12 IV 119f A1 Ala
945 12.2 —] — 3/12 —| WVIi8g EN K1a
946 12.1 —] 6.2 2/12] —|  WIsf EN Ala
947 12.0) — 6.9 3/12 —| IVI20g A1 Ala
948 6.1 — 5.1 4/12 —| WIi7h A1 Ala

96 949 12.0 — 6.4 8/12 | IVIi9g K1 —

96 950 11.8 — 6.3 11/12] —|  Wv1sf K1 Ala
951 11.7 — 6.5 1/12) —| IVIi9g EN Ala
952 11.6 6.6 6/12 IV 119f A1 Ala
953 11.6 — 6.1 7/12] —| WVIi8g IS —
954 —] 43| 6.1 —| 12/12[  IV1i8g IS
955 — 43 6.4 — 12/12[  V118i EN —
956 — 4.6 3.9 — 8/12] IV118g A1 —
957 — 4.5 2.8 — 12/12[  IVI19f A1 —

96 958 — 4.4 — — | Vvig A1 —
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HEM | GRS | X RS P [BIES JEFE i CIRRGRGH RS ] U v F kR [REATE HERE
959 [C_— BB 2.0 — 5.5 9/12] —| W I8i K1 —
96 960 [C 1.5 5.8 7/12 IVII19h [P Al K1b
961 _|[C 1.0 — 5.8 1/12] —| Viad-e K2 A1b
962__[C 1.§ 4.0] 6.2 3/12] 5/12[ Vg ENEIIE] FE]
963 _|[C_— 1.7 438 5.7 3/12] 12/12] IV 115i K1 FE~K2[K1l a
96 964 _[C 14 4.2 6.4 12/12] 12/12] 18i K2 Alla
965__[C 2.0 4.4 6.6 3/12 12/12[ WV 1Ii8i K3 Al a
96 966 [C — 12. 438 6.5 6/12] 12/12] 19f K 3 i Al a
96 967 _[C — 12.35 5.65 6.6 10/12] 10/12[ W 1i9g A1 Ala
968 [C — 11.4 — 4.4 3/12] — WNI17h A1 Ala
969 _[C — 11.8 — 5.4 1/12] —| _WIi9g A1 Ala
970 _[C — — 5.6 2.3 — 3/12[ _ vIf A1 Ala
971 _[C — — 4.8 2.1 — 10/12] VvV 1id K1 Ala
96 972__[C_— 10.§ 6.0] 5.6 2/12] 12/12[ _v1id K2 Ala
973 _[C — 10.0 5.0 6.2) 1/12 7/12] _IV118f = =
974 _[C — — 6.0] 4.8 — 7/12[ Vg K2 =
975 _|[C_— KL - /Mo 11.6] —] 4.2 2/12] —|[_WVI20e ENl Ala
97 976 _|C_— RN 12.5 7.0 5.0] 7/12] 12/12] IV 120g _ |gkH K1~3 Ala
977 _[C — Uit ¢ I — — — 3/12] 12/12[ _IV119g K1 A1l a
978 |C_— Ui S 1L 11.2) 6.1 2.6 4/12] 12/12[ _VIid Al —
979 _[C_— Bt L 111 5.2 29 3/12] 4/12] _IV120e A1 =
980 |C — Ui S I 11.3 6.6 2.6 3/12] 10/12[ _IV1i8h A1 —
981 [C — Bt [ 11.6 6.4 2.8 7/12] 11/12] N 119h ENI =
97 982 |C — Ui S I 12.1 6.4 3.1 11/12] 11/12] 18g A1 =
983 _[C — Bt LI — 6.7 2.2 — 7/12] 18g A1 K1a
984 |C — Ui S I 8.8 5.0 2.4 9/12] 10/12] _IV119¢ A1 —
985 [C — Bt L 12.1 6.9 2.8 1/12] 7/12] 19f A1 =
986 |C_— Ui S 1T 12.0 6.4 3.0 3/12] 6/12] 19f A1 K1a
987 [C — Bt I 12.0 6.5 3.1 5/12] 5/12[ _IV118i A1 —
988 |C — i S 1L 12.0 6.6 2.4 2/12] 12/12] _IV118i A1 —
97 989 [C — Bt L 11.8 6.3 33 10/12] 12/12] — [E5EH K1 K1a
97 990 _[C — i S 1L 2 6.3 3.1 12/12] 12/12 __IV1i8g IN —
991 _[C — Ui I 4 6.2 3.1 4/12] 11/12[ W 119g K KTa
992 _[C — B S I 6.3 2.8 6/12] 12/12[ IV 1iof IN —
993 [C — Ui I 2 7.2 2. 3/12] /12 V119e K KTa
994 _[C_— i S I 4 6.7 2.8 2/12] 5/12[ V119 IN KTa
995 [C_ — Bt L 8 6.5 2.2 — 11/12[ IV 119f BN =
996 _[C — B S I 6.5 2.9 6/12] 6/12 _IVIISf IS —
997 _[C_— Ui 1L 4 6.1 3.0] 4/12] 12/12[ WV119g K =
998 [C — B S I 2 6.1 2.75 10/12] 12/12 _IV119j IN
999 [C — Ui L 4 6.4 2.7 3/12 6/12[  IVII8i K
1000 |C B S I 4 6.6 2.7 2/12] 8/12[ _IVIIOf IN
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swHERn 2R

1062

__L;::::;;;51092

1082

1085

0

(1/4

10cm

1095 1097
f‘fﬂ 1096 $ 1098
TN | GRS iz T TE TRl [ ERGR] U F T A A

1053 |C 11.0] 4.3 2.4 3/12] 7/12] IV I118p K1 —
1054 |C 10.7] 4.1 2.8 7/12| 7/12] vV 118f K1
1055 |C 10.3| 4.6] 2.7] 3/12] 3/12] IVI118g K1 —
1056 |C 10.4] 4.1 2.7 8/12| 12/12) IV 118f K1 —
1057 |C 10.2] 3.8 2.7] 3/12] 5/12] IV 118f K2 —
1058 |C 10.1 3.8 2.95| 12/12) 12/12) IVI118g K1 Kl a
1059 |C 9.6 3.7] 3.05] 12/12) 12/12) VI8 A1 Kla
1060 |C 10.4] 4.2 2.5 3/12] 6/12] 18f N Kl a
1061 |C 10.2] 3.7 2.7 11/12) 12/12) 18 A1 —
1062 |C 9.8 3.9 3.65) 7/12] 9/12| 18f K1 —
106: C 11.1 4.4 2.6 1/12] 4/12] 18] A1 —
1064 |C 9.95| 4.3 3.2 6/12] 10/12) VI8 K1 —
1065 |C 10.0| 3.8 3.0 12/12) 12/12) 18] A1 Kla
1066 |C 11.0 4.3 2.7 6/12] 11/12) IV 118i K1 —
1067 |C 10.4| 5.3 2.1 2/12] 5/12] V1181 K2 —
1068 |C 10.0 4.3 2.8 7/12] 12/12) IV118h K2 —
1069 |C 9.8 3.9 2.7 2/12] 3/12] IV I18f A1
070 |C 9.4 4.2 2.3 3/12| 6/12] IV 118h K2
071 |C 0.9 4.7 2.9 8/12| 12/12) 8i K2 —
072 _|C 11.25) 5.0 2.8 4/12] 7/12] 8i N —
07 C 0.3 —] 2.7 6/12] 6/12] 8i N —
074 |C 0.2 4.1 2.8 5/12] 6/12] 8i N
075 |C 0.1 4.5 3.1 7/12] 12/12) 8i N —
076 _|C 0.3 4.8 2.7 2/12] 12/12) 8i N —
077 _|C 1.2 5.0| 2.6| 3/12| 7/12| 9e ZN Kla
078 |C 1. 5.1 2.5 3/12] 6/12] 9g N —
079 |C 0.8 4.5 2.6 5/12 7/12| 9g N —
080 |C 0.4 4.4 2.8 12/12) 12/12) 9g N —
081 |C 0.4 4.3 2.7 7/12| 12/12) 9g N —
082 |C 0.0 4.0| 3.1 12/12) 12/12) 9g N KT a
083 |C 0.0| 4.7 2.2 6/12] 6/12| 9h K2 —
084 |C 1.7 A 2.6 3/12] 4/12] IV I119i K1 —
085 |C 9.25| 4.4 2.7 7/12| 11/12) K2
086 |C —] 4.0 1.2] — 12/12] IV120h - i N —
087 |C 0.2 4. 3.2 /12| 6/12| IV 120e % Kla
088 |C 0.2 4.4 2.4 4/12] 6/12] IV I118i —
089 |C 0.8 4. 24 4/12| 4/12| IV I119g —
090 |C 1.2 5.1 2.3 /12| 4/12] IVI20h - i —
091 |C 1.6 5.5 1.8 8/12 10/12) vV 119f Kla

98 092 |C 3.9 5.9 2.9 5/12] 6/12] IVI18i- 19h —
093 |C 0.8 5.2 2/12| IV I18i

98 094 |C 9.0 2.0 6.6] 2/12] 3/12] IVI119g

99 095 |C 5.2 2.7 3/12] VIid

99 096 |C 5.8 — 2.3 6/12] IVIi8h — —

99 097 |C 3.9 9.6 2.4 5/12| 6/12]

99 098 [C 7.8 — 1.8] 1/12] IV 119f — =




0 (1/4) 10cm
115
HEP | GhES | K EREES Pl B JEETE E | DU | IEREERGE | U R Sk 2. La LA
1099 [C — il 9.6 — 6.4 3/12 —| WIigg Al —
99 1100 |C — R 7.3 — 6.9 11/12 —|  WIi9g K1-2 —
1101 _[C — R — — 8.2 — —|  VII8i X —
1102 [C — R 39 — 3.3 10/12 —|  nvIof PN —
1103 [C — R — — 3.7 — —| IIi8h IS —
99 1104 |C — el — 11.0) 20.0) — 12/12] I 118g A1 K1a
99 1105 |C — TF — 1.7 12.5 — 12/12] IV 119g K1-2 —
99 1106 [C — fedl — 11.8 21.6 — 4/12]  WV119g K2 —
1107 [C R 13.8 13.9 5/12]  VvIid N
99 1108 [C — R — 10.0 14.1 — 12/12 — K1-2 —
1109 |C — R — 11.8 53 — 5/12]  IVI118f K1-2 —
1110 [C — el — 12.5 45 — 12/12]  N118h K1-2 —
1111 [C [l 11.8 5.5 1/12 IV I20e K1-2
1112 [C — ST 14.5 — 2.6 4/12 | vid IS —
1113 [C — LIS 15.4 — 32 3/12 —|  IVI19j K1-2 —
1114 [C — KT 16.4 — 2.8 3/12 —| WI19e A1-2 —
1115 [C — ST — 16.0 12.5 — 3/12]  WI119f A1-2 —
100 1116 [C — SIS 204 19.0 235 3/12 8/12] IVI19f BIVH~K1 [~
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C 1122
1117
X
s -
=2 1120/ —
111
8 — s 1123
e 1121 1124
1119
1125
/
[
l 1129
) 1126
/
(
i 1130
/ L
1127
_ 1132
0 (1/4) 10cm
RN | SRS | K EMES ke [BIE3 JECPE A RIS | R | JU v B STk R LA
1117 [C — Bl 116 10.6 88 2/12 12/12] N 115i K2-3 —
100 1118 [C — Bz 11.7 10.9 8.35 6/12 12/12] N 119 K1-2 —
100 1119 [C — [z 13.0 10.4 84 5/12 5/12] V1150 K1-2 —
1120 [C — I §4 14.6 12.1 11.0 11/12 6/12] V119 — —
1121 [C — R A R 15.2 — 10.9 6/12 —|  WVII8i K2-3 —
1122 |C T - % 14.5 — 6.7 3/12 —|  WNIi6h BIVH~K 1 [—
1123 [C - 2 14.4 3/12 IV I18i HIVHI~K 1
1124 [C — FJfi - % 14.0 — 7.0 4/12 —| vid HEVH~K 1 |—
1125 [C — -2 14.0 — 5.1 2/12 —|  Wwilisg BIVEHi~K1 [ —
1126 |C — -2 14.0 —| 5.5 5/12 —|  NVII8i BIVHI~K 1 [—
1127 [C % 14.5 5.8 3/12 IV I18i HBIVE~K 2
1128 [C — % 14.6 11.9 18.2 12/12 12/12] N 118i BVHI~K2 |~
100 1129 |C — % 20.2 — 8.0 — —| NIigg BVHI~K2 | —
1130 [C — B 208 — 75 2/12 V118g BIVE~K2 [—
1131 [C — # — 13.4 4.7 —] 5/12]  IV1l8g — —
1132 [C — AR 22.8 — 89 4/12 IV 119g — —
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R y 7

— W | 293 o1 118  9/12]  12/12] Nlisg Kl —
- mek | 280 o4 ___119] ___4/12] _ i2/12] N1I%e 1 =
- m# | 200l 104 118 2/12]  12/12] NIiog Kl =
= i —_Wiiof K2 —
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0 (1/4) 10cm

e
GRB | BERES | X OERES fracd W JEPE A IR | R AR | JUv R R [3e 2T A
1145 [C — gk 3/12 9/12]  IVI19e K2 —
— ok 37.8 10.6 13.8 1/12 6/12]  IVIIS8i K2k —
— Tk 39.6 — 8.3 3/12 —|  WIi8e K2t —
— &8k 38.4 12.0 13.8 5/12 2/12] V1151 A3 —
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—
T T —~—

1149
1151
4
1150
1152
\
)
1153
1158 I
1154
)/
1155
1159 @
) 1156

——
e T

)60

S

N e 163

0 (1/4) 10cm w
= 1164
RN | SRS | K EMES i g | R M| LR | IRk % | JU v R OBk TRV T H LA
1149 [C — hi 24.8 5.4 1/12 —|  NII8i IS —
1150 [C — % 256 —| 9.4 1/12 —|  IVII19f K —
101 1151 [C — o 19.4 — 9.3 3/12 —| WNIisg K1-2 —
1152 [C — # 21.6 — — 2/12 —|  Nsi K1-2 —
101 1153 |[C — # 21.8 — 7.8 2/12 —| V119 K1-2 —
101 1154 |C 2 20.0 —| 6.0 1/12 —|  Vviig K1-2 —
1155 |C # 20.0 3.7 1/12 VI119f K1-2
1156 |C — 3 174 — 36 1/12 —| Vg K1-2 —
1157 [C — i — 18.0 5.3 — 4/12]  IVI118i X —
1158 |C — HLRF — 14.0 49 — 5/12]  IV119e IS —
1159 [C # 13.0 7.5 5/12]  N119i K12
1160 [C — o —| 155 167 — 12/12]  NV119g N —
1161 [C — I ks 17.3 8.0 2.8 1/12 3/12] IVIi8g K1-2 Kla
1162 [C — it 5.6 3.7 1.7 7/12 12/12]  Viid K —
1163 [C — - filim — 7.0 1.2 — 6/12] IVI19g — —
1164 [C — i —| 6.4 2.0 — 5/12]  N119g — —
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1165

1167

173

179

1181

1192

1182

1202

1198

L = 1190
0 (1/4) 10cm é—-é %
1204 Eg' 1201
SR [ BRES ] KORMES | wak i JEFE e | ORSRER SR EE ] Uy R bk TR T JF LA
1165 [C — Rl IL 13.0 5.9 2.8 1/12 6/12] V118 A1 —
1166 [C — P L 12.3 6.5 3.1 5/12 12/12] IV 119j K1 —
1167 [C P I 12.4 4.8 3.0 8/12 12/12] NV 119g A1
1168 [C P I 12.1 5.7 3.2 10/12 12/12[  N119 A1
1169 [C — Rl I 12.3] 6.0 2.5 2/12 3/12[ N8 A1 —
1170 [C — R 12.3 6.0 3.4 8/12 12/12] WV 119g Al —
1171 |C — P L 12.3 7.6 22 4/12) 2/12) Vlile N —
1172 [C — AT IL 12.1 4.6 2.5 12/12] 12/12] N 119g A1 KTa
1173 [C — iRl Pl I 12.2 5.8 3.1 7/12 12/12] NV I18i A1 —
1174 [C — Rl P L 11.9 6.1 3.0 3/12 12/12] N 118g I
1175 [C skl L 11.9] 5.9 3.0 9/12] 12/12 IV 119f K1
1176 | C D L 11.5 5.3 2.3 2/12 3/12[ W I1i8g K1
1177 [C — DL 12.0 5.8 2.8 5/12 6/12[ 118 A1
1178 |[C — R D [ 11.9 5.8 2.6 11/12 12/12] WV I119f A1 —
1179 [C — [ 11.6 6.0 2.4 12/12 12/12] WV 1i8g A1 Kla
1180 [C — R IL 11.4 5.6 2.6 8/12 12/12] v 1id Al —
1181 [C — Gl P L 1.7 5.2 2.2 5/12) 5/12[  W119 A1 Kla
1182 [C — EIm 10.8 4.9 2.5 4/12 6/12] IV118h A2 —
1183 [C L 11.4 5.7 23 3/12 6/12[  VIid
1184 [C — L 115 5.3 1.8 12/12] 12/12 I 118f — —
1185 [C — AL 12.0) 5.4 29 2/12 2/12[ N7t — —
1186 [C — = 14.6 6.4 33 8/12 12/12 — — —
1187 |C — |k —] 6.0 1.0 —] 9/12]  V H6k — —
1188 [C — LT 12.5 5.4 4.9 6/12 12/12) — Feok 10 X |—
1189 [C — IR 13.7 5.8 5.8 12/12) 6/12] V118 e
1190 [C — I PN PN 14.0 4.6 4.2 2/12 3/12[ WN119g Feok 7 A | —
1191 [C LR 10.8 5.4 2.6 1/12 12/12] IV 115i 25k 12 50
1192 [C — 1Lk 11.4 47 3.1 7/12) 12/12] IV 115i FEoE 12 5k |—
1193 [C — IR 11.5 59 2.7 3/12 6/12[ 118 ek 12 B8 |
1194 [C — LR 11.4 5.4 3.65 6/12 12/12] WN1i8g ek 12 558 |—
1195 [C — I 12.2 5.8 3.3 11/12 12/12 — ek 12 ALK | —
1196 [C — PR 10.4 — 2.6 1/12 —| IVIi%h — —
1197 [C — [ — 6.0 2.3 — 4/12[ Vg 3 4 —
1198 [C RN 6.2 3.0 8/12] vliid 5 M 6
1199 [C — Lt — 5.0 1.9 — 4/12[ Vizd-e G1h2 —
1200 [C — KL 4.1 5.0 1.6 — 12/12] Vg H5h6 L
1201 |[C — i — 39 1.4 — 12/12] IV 118i =7 —
1202 [C — [fé 2 — 4.6 3.8 — 5/12[ 118 5 8 —
101 1203 [C — B 73 — 2.2 6/12 —| VIi8h 1 ~2 Kla
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